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«sinl5° or sinf’; —V3-1_ co575%r cos T

« cos15° or cos Z V3+1_ sin 75°or sin%t

2

«sin C + sin D ZZSin(C+DJcos(C_Dj

2

. sin C—sin D= ZCOS(C; L ]siu[%]

« 2sinA sinB=sin(A+B)+sin(A-B)
« 2c0sA sinB=sin(A+B) —sin(A-B)
 2cosA cosB=cos(A+B)+cos(A-B)

. V31 _ o «cos C+ cos D= 2cos [C ; D)COS[%] * 2sinA sinB=cos(A—B) —cos(A+B)
.tan15 —\/3_'_1—2—\/3— cot 75 el -
V3+1 [ «cos C—cos D= —Zsm( 5 ]sm(T) - - -
. tan75°=‘/3_1 = 2+V3= cot 15° sin(A+B)=sinA cosB =+ cosA sinB

ST i 18°= Y5 =1
smﬁ)or sin 18°= Z

«cos(A+B)=cosA cosB+sinA sinB

tan A £ tanB
5 +B)=—
V5+1 ) 1¥tan AtanB
«cos Zor cos36°=—— _
5 4 -COt(A+B)=C0tACOtB+1
- cotA+cotB

« sir?A—sin?B=cos’B— cos’A =sin(A+B) sin(A-B)
« cos’A—sin’B=cos’ B—siA=cos(A+B)cos(A-B)

ith two variables

wit!

erence of sine and Cosine

General solution: The solution consisting of all possible solutions

of a trigonometric equation is called its General
Solution.

.sinf= 0< 0= nn, cosd = 0<=0=(2n +7§r)

. tan 6= 0 <0= n7x, sin 6= sin a=0=nn+ (—1)na, where ae (_25, 52)

gactoriSat'\Oﬂ of the Sum or

If in a circle of radius r, an arc of length ! subtends an angle
of 0 radians , then [ =r6.

D

*Radian Measure= % x Degree Measure

*Degree Measure= 180, Radian Measure
K
« cos 0= cos a<=>0= 2nnta, where ae[0,r]

.tan 0= tan a<0= nn+a, where o (_g/ % )
T il

o st + cos’0=1,-1<sin0<1,-1<cosd <1 VOeR
a<>0= nnto,cos20= cos?acnmto

. sin“0= sin e sec’0 —tan 9 =1, [sec 0] > 1, VOeR

. tan20= tanZac0= nnta, sin =1 <06 =(4n+1)721 . cosec®® — cot’0 =1, |cosec 0] > 1, 0eR

«cosh = 160 = 2n7, cos = -1<0 = 2n+1)n

« sin® = sina and cosf= cosa <0=2nn+a, nez

« sin2A = 2sinA cosA

. COS2A = coszg - sin?A « sin(@)=-sind + cos((x F0) =-cos . sin( 37” 7 9] ——cosh
= 2cos"Acl * C0s(-8) =cos0 . sin(z ¥0) = +5ind \
= 1-2sin“A « tan(-0)=-tan@® o « co8 —”IBJ =% sin@
N 2tanA « tan(z ¥0) =F tan® 2
« tan. == =
The equation involving 1-tan2A - cot(-6)=-cot8 « ot (x #0) =F cot® 37 _p) = +cotd
trigonometric functions of . sinoA — 2tanA « sec(-6) =sec * tan[7 * ‘9) s
unknown angles are known 1+ tan2A « sec(z F0)=—secB
as Trigonometric equations. 1 2 + cosec(-6) =-cosecd _ . cot(iﬂi 0] =z*tan®
e.g cosf= 0, cos20—4cosO= 1 . cos2A =~ 1Al « tanz —— « cosec(r ¥ 9) = +cosecd 2
A solution of trigonometric 1+ tan“A : sm9[5+ 6) =eeE —— . sec(3—” ;gj = @osadd
equation is the value of the - sin3A = 3sinA — 4sin’A cos(76) = +sin6 « sin(2z +6) =+ sin® 2
unknown angle that satisfies OETLA S Shc 3C°§A R TE « cos(27 #0) =cos® . cosec(%” 19) =secd
the equation. . — 3tanA —tan°A ) _
q tan3A L 3tr’A . tan(; ¥ 9] ==*cotd . tan(27 ¥6) =Ftand
ing =L . .
e.g. sind V2 .sin 0= Zsmgcosg « cot (% :9] ==+tanf « cot(2z F0) =Fcotb
_ 7 37 97 11z . . _ 20 1_1_2sin2 0
=0=T g €os §=2cos” 5-1=1-2sin" -sece(gie ==*cosech ||. sec(27 %0) =sech
) 2 0
.tan® = 2tan/ (1-tan" T\
2 ( 2 OEEEEE (5*9) =sec® ||, cosec(2776) =Fcosecd




